A

a4z
JE: HYs SME Y (ASSX/ =0 - Had)
Sol LEMEEE Y LASKIH X EER-E
2 5 4 14
SN SAEA) - MEAY - BES 0l &k o e SmEET
22 Z0H Q1 1t 950,048,388 893,050, 060 56,998,328
= 842,572,846
J| 2,136,137
= 105,339,405
st LEsME B (MISA /Lo - FAH) 788,193,673 740,353,394 47,840,279
= 707,880,860
J| 2,024,421
& 78,288,392
CEMEEEY Y LosSNEY =X 706,570,393 666,534,665 40,035,728
= 679,916,357
= 26,654,036
Lo=EX 3 FA 193,020 175,000 18,020
201 L2l 6,390 0 6,390
01 At 22l bl 6,390 0 6,390
OL=EXAY =& 6,390
202 O4Hl 6,800 0 6,800
01 =LA I 6,800 0 6,800
OL=EXAY =2l 6,800
307 g1z2tol & 122,500 175,000 A 52,500
11T A SAAEEE 122,500 175,000 A 52,500
OLQ=EXEIMNY 22 122,500
308 UXIEHSOIA 57,330 0 57,330
01 IXSHBHEXS 57,330 0 57,330
oke Wi Z20Y8 24 XA 57,330
SOXNER S 2t 201,837 312,838 A 111,001
307 glz2tol & 169,837 160,920 8,917
03 QI HE2EHIEXR 169,837 160,920 8,917
Ost- ol ZACHes 284 N 169,837
402 RIZEX20| A 17,000 48,243 A 31,243
01 QI XHE AL 2 (KM &) 17,000 48,243 A 31,243
Ost- ol Z2ATHEs Js2d N 17,000
403 XSS 201 H 15,000 103,675 A 88,675
01 X EHA2Ex 15,000 103,675 A 88,675
OAlZ L3 JIsEH 15,000
=z NS(XNAMER)(=2) 697,505,585 658,021,540 39,484,045
= 676,403,023
& 21,102,562
308 XXM SO0l & 697,505,585 658,021,540 39,484,045
= 676,403,023
& 21,102,562
01 HXSHHBILEXS 697,505,585 658,021,540 39,484,045
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A

M AYs CME BH(ANI=X/ L0 HAY)
Ol LEMEEE U LOSNEY 23 EEREE
SN EB .S (SH) - NEAY - BES O &k 2 b HZE2
OJl=dHZ2 K= 697,505,585
= 676,403,023
== 21,102,562
S N3 25,370 36,255 A 10,885
308 XX SHHMSO0IA 25,370 36,255 A 10,885
01 XS HIBABEES 25,370 36,255 A 10,885
oO&s+Y XA 25,370
A2 29 43 XN 3,975,048 3,974,912 136
308 XX SHHSO0IA 2,335,548 1,276,912 1,058,636
01 AIXSHMBAEXZ 2,335,548 1,276,912 1,058,636
odz4d 29 & 2,139,456
OH¥RY =32y A2 XS 196,092
403 XX S M S K201 N 1,639,500 2,698,000 A 1,058,500
01 AEXISHHM A 22 X 1,639,500 2,698,000 A 1,058,500
o&dzd JlsE2d 1,639,500
A2 G YW ugty 2 2=H A (=21) 4,377,537 3,530,200 847,337
= 3,367,336
== 1,010,201
308 AHXI A SO0l H 4,377,537 3,530,200 847,337
= 3,367,336
== 1,010,201
01 XA IAEEXS 4,377,537 3,530,200 847,337
OX3=E W - ety & 23H A& 4,377,537
= 3,367,336
== 1,010,201
A2 ZAXKAMYH 2EXH(=21D) 291,996 290,740 1,256
= 145,998
= 145,998
307 Q120 & 291,996 290,740 1,256
= 145,998
= 145,998
10 IS SXAIEEE2IH X 291,996 290,740 1,256
odz s ZIAXJHdEH I 291,996
= 145,998
== 145,998
COoISH My ¥ =8 ot 23 27,843,907 25,580,788 2,263,119
= 21,904,852
J| 2,024,421
= 3,914,634
LolgtEs2AMHlA XK (=2D) 23,034,369 21,256,658 1,777,711
= 21,184,391
== 1,849,978
307 Q120 & 142,382 106,600 35,782
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A

HE: AU CEME SR (MESN/ 0 BAE)
ol OISHTH Ol U S XY A EER-E
. 4
SN SAEA) - MEAY - BES 0l &k o e SmEET
= 99,667
< 42,715
10 ALSI S XAIEHE 22X 142,382 106,600 35,782
O AEFSsSAMEIA HEIIZ XN 142,382
= 99,667
= 42,715
308 X EHSOIA 22,891,987 21,150,058 1,741,929
= 21,084,724
= 1,807,263
O1 IXESHBHEXS 22,891,987 21,150,058 1,741,929
okoXs=sAMElA 2 22,891,987
= 21,084,724
= 1,807,263
SSAMNEIA SAA 22X & AR 835,960 727,140 108,820
307 glz2tol & 8,400 8,400 0
11 A SAAE E X 8,400 8,400 0
OSsSAMEIA SALR AR W= 8,400
308 AUXIEHSOIA 817,560 718,740 98,820
01 HXESHBILAEEXS 817,560 718,740 98,820
OSsSANHlA BALR 32X 817,560
403 AXIEHHS =01 & 10,000 0 10,000
01 AXIEMAE2EX 10,000 0 10,000
OS=sAMtlA =8I JIsEY 10,000
SHLQ Hojo SSHFAMEIA 2IXA(21) 2,452,876 2,221,808 231,068
J| 2,024,421
< 428,455
307 glz2tol & 58,928 55,520 3,408
J| 29,464
< 29,464
10 ALSI S XNAIEHE 22X 58,928 55,520 3,408
OSHZQ HoHe S=4a M A HEII2 X
# 58,928
J| 29,464
< 29,464
308 AXEHHSOIA 2,393,948 2,166,288 227,660
J| 1,994,957
< 398,991
01 HXESHILEXS 2,393,948 2,166,288 227,660
OSHEQ HoHe S=AaMEA 29 2,393,948
J| 1,994,957
= 398,991
ANALoEsd2I |2 XA (=) 1,195,700 1,111,100 84,600
= 597,850
= 597,850
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A

HE: AYS CSMH BH(ASSX/ Q- HAW)
Col: Lol oY Y S oFY 2 (crel @
5 4 14
SN SAEA) - MEAY - BES 0l &k o e SmEET
307 glz2tol & 1,195,700 1,111,100 84,600
= 597,850
= 597,850
10 ALEI S XAIEEE 22X 1,195,700 1,111,100 84,600
OLoEsSER2INE 2EXA 1,195,700
= 597,850
= 597,850
st o dEEH 22 XNA(21) 245,222 194,822 50,400
= 122,611
= 122,611
307 glz2tol & 245,222 194,822 50,400
= 122,611
< 122,611
10 ALSI S XAIEHE 282X 245,222 194,822 50,400
ol - dEEEH 2LXA 245,222
= 122,611
& 122,611
st = dE8aEH 2SN 11,000 0 11,000
402 RIZEXt20l A 11,000 0 11,000
01 QIZEX 2 A S E (KM THE ) 11,000 0 11,000
OostiiolofcdEadH JIsEZ 11,000
S(E)XNAHE 22X 50,940 50,940 0
307 glz2tol & 50,940 50,940 0
1AL SXAIEEX 50,940 50,940 0
OF(F)XNZHH 22X 50,940
EH zd g8 N 17,840 18,320 AN 480
308 UHXIEH SOOI 17,840 18,320 A 480
01 HXSHBLAEXS 17,840 18,320 A 480
O=H Hzd s N 17,840
Lo=ETANE 28 & &5 X2 50,649,773 43,329,410 7,320,363
= 3,177,151
= 47,472,622
Lo =EXANE 294 1,964,860 2,867,349 A 902,489
307 glztol & 65,160 272,400 A 207,240
11T A SAAEEE 65,160 272,400 A 207,240
O LUSXAE SAX SX=E 65,160
308 IUXIEHSOIA 1,799,700 2,455,624 A 655,924
01 HXHHBLEEXS 1,799,700 2,455,624 A 655,924
OANZ LA=SXANE SAX =X+ 1,799,700
403 XAXISHMSA=201 A 100,000 139,325 A 39,325
01 XA A2E = 100,000 139,325 A 39,325
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A
X XH -
(=

=g

220§t
A2s ESME YEH(ASSX/ =0 - Had)
CSAAE 28 & =25 N2

. 4
SA YO () - NEAY - B Ofl &F 0 agﬁ HRE2
oLo=Exa Jsed N 100,000
LOoIEXAlE HI} 8,200 13,200 5,000
201 LEF2HH| 8,200 13,200 A5,000
01 AP 22l Hl 8,200 13,200 5,000
O SIAIAE HO} 8,200
U2 AL 2HH XN (HEAY) 2,717,980 0 2,717,980
308 XX EMSO0I& 2,717,980 0 2,717,980
01 XS HIABEXS 2,717,980 0 2,717,980
OUZ AL 2¥Hl XK (HEH 2,717,980
Lo g2 E2XAE 29X 41,757,701 34,951,078 6,806,623
308 XHXIEMSO0A 41,717,701 34,874,078 6,843,623
01 AIXSHMBAEXZS 41,717,701 34,874,078 6,843,623
OJlx=4La2Ak S AIRYEE 20 N 41,717,701
403 XX SHHS K201 ™ 40,000 77,000 A 37,000
01 AIXSHMA=2E X 40,000 77,000 A 37,000
OLQAQLAANE &5 JsEL 40,000
LORAUALEE(IsSEL) AIY(21) 3,994,032 2,296,694 1,697,338
= 3,077,151
== 916,881
403 XX SHHS K201 ™ 3,994,032 2,296,694 1,697,338
= 3,077,151
== 916,881
01 AIXSHAE2EE 3,994,032 2,296,694 1,697,338
OLQQAUANY S=5(JsE) 393,582
= 196,791
= 196,791
OLQQUANA SE(XNHESH) 3,600,450
= 2,880,360
== 720,090
Lo QLUQARKAME 29 XK (=21D) 200,000 200,000 0
= 100,000
== 100,000
307 2Iz2t0l & 200,000 200,000 0
= 100,000
c 100,000
10 S SAANEEHAESIHEX 200,000 200,000 0
OLQAINQLURARRAANME 2 200,000
= 100,000
= 100,000
Lol2XAld A3 H dEsd 29 7,000 8,700 A 1,700
201 et A H| 2,800 4,500 A 1,700
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SN B2 D
HH: AAE LSME SH(AIEX/=Q - HAd)
9 Lo=XAE 2% ¥ #E N (cted@
= _ d L5
fA-ZFH-SA(AH) - MRANY - BES Ol &F 4 ‘agﬁ Blns2
03 A2 bl 2,800 4,500 A1,700
ONE3H HEYS 2 2,800
301 YErE w3 4,200 4,200 0
09 HAIABIXI &2 4,200 4,200 0
OANEE N HEYD 29 4,200
HA FASS 24 L AL &5 3,129,600 4,908,531 1,778,931
2 2,882,500
= 247,100
T BAANE EX(2D) 3,129,600 4,908,531 A 1,778,931
2 2,882,500
= 247,100
403 R X SHIS K20l & 3,129,600 4,908,531 1,778,931
2 2,882,500
= 247,100
01 UXISHHIEE T 3.129,600 4,908,531 1,778,931
OFAANE == 3,129,600
2 2,882,500
= 247,100
=X AEE SL(MSISR/HAASTH) 161,822,852 152,666,372 9,156,480
2 134,691,986
pJ 111,716
= 27,019,150
TOHe MEOE U XY X 46,827,522 47,055,143 ~227,621
2 41,255,720
= 5,571,802
oz SHXS(2D) 37,973,501 37.811,652 161,849
2 33,647,406
= 4,326,095
308 AHXIEHA SOl & 37.973.501 37.811,652 161,849
2 33,647,406
= 4,326,095
0 AXESHILEES 87,973,501 37.811,652 161,849
ozMAZ XA 37,973,501
2 33,647,406
= 4,326,095
Do (OIE) NS(22) 3,735,595 3,837,143 ~ 101,548
2 3,310,021
= 425,574
308 XX A SOl A 3,735,595 3,837,143 ~ 101,548
2 3.310,021
= 425,574
01 AXSHBAEED 3,735,595 3,837,143 ~ 101,548
oFM=Z(I=x) X3 3,785,595
2 3,310,021
= 425,574
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PN I2E0HA
M HHUSX ANEE SH(MISEX/HLAHSXE)

SHol: FOHO MEOIE U XY N T
SN BB S (SA) - MM - BES Ofl b b RS2
o= (Xa?) N2(=1) 3,053,582 3,175,800 A122,218

= 2,705,706
= 347,876
308 X EHSOIA 3,053,582 3,175,800 A 122,218
= 2,705,706
& 347,876
01 AXEHBAELS 3,053,582 3,175,800 A122,218
OZM=Z(Xtae ) K= 3,053,582
= 2,705,706
= 347,876
Zojelozd NA(=1) 1,182,900 1,315,795 A 132,895
= 1,126,571
= 56,329
308 XXl S SO0l & 1,182,900 1,315,795 A 132,895
= 1,126,571
= 56,329
01 HXESHILAEEXS 1,182,900 1,315,795 A 132,895
OFoe o=Hl XA 1,182,900
= 1,126,571
& 56,329
MASHOMHC Aetdl L FAH X (212) 21,386 31,571 A 10,185
= 17,822
= 3,564
308 UXIEHSOIA 21,386 31,571 A 10,185
= 17,822
= 3,564
O1 IXSHBHEXS 21,386 31,571 A 10,185
OMASZOQ AEHH] L HAH X & 21,386
= 17,822
= 3,564
O J=ME2E XA 130,810 115,360 15,450
308 XXM SO0l & 130,810 115,360 15,450
01 HXSHILEXS 130,810 115,360 15,450
OFOe B2 2&32 28l XA 4,480
oxe f=g4 X 106,330
OFOMe AZZE X& 20,000
HOHQl A 2ot 79,350 104,900 A 25,550
308 A EHSOIA 79,350 104,900 A 25,550
01 AXEHBAEEES 79,350 104,900 A 25,550
oOFMelAalE =2 KA 47,500
OHFANEE 2 Z0He HEEEHS X 31,850
HOHAEERDID XNA(=21) 88,899 87,261 1,638
= 84,666
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A

220§t

Hz: M =X AT SH(MIA=EX/FNSAHSIH)
Chel: Zojel MEord o Xy XAJ CEREE
SN EB .S (SH) - NEAY - BES O &k 2 b HZE2
== 4,233
308 X SHMSO0IA 88,899 87,261 1,638
= 84,666
== 4,233
01 XIS HIAEEXES 88,899 87,261 1,638
OZOMRAEXD|D| XA 88,899
= 84,666
== 4,233
ATEXIIIME 2E XK (21D) 219,750 216,996 2,754
= 109,875
== 109,875
307 212t01 & 219,750 216,996 2,754
= 109,875
== 109,875
10 IS SXAIEEE2IH EX 219,750 216,996 2,754
OLRFEEXRI|IIHEH 29X 219,750
= 109,875
== 109,875
SOOIt MET M X (21D) 329,749 325,865 3,884
= 253,653
== 76,096
308 AHXI A SO0l A 329,749 325,865 3,884
= 253,653
== 76,096
01 HXIESHHIAEEXS 329,749 325,865 3,884
OO X M RAME X3 329,749
= 253,653
== 76,096
ZOHoI Rt e X AE X (RA) 12,000 8,000 4,000
308 X SHMSO0IA 12,000 8,000 4,000
01 XM IBAEEXS 12,000 8,000 4,000
OZMNAUXHMEXRAME T2 29 12,000
ol S=s AMHIA X 66,623,348 58,163,622 8,459,726
= 58,972,387
== 7,650,961
QXA T2 2H 1,131,581 1,035,304 96,277
307 Q120 & 610,225 599, 337 10,888
AMSIEXAIE E X 610,225 599, 337 10,888
O A2 & OO K& K| & &l E] 58,000
O L0 THE X & & E 112,000
OX X ZOof K& X & HEH 238,000
OO IFA & A H 78,225
O&foIEetategal 124,000
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A 2204
M ZAU=EN AEE SH(MEIS/HLHEXH)
&2 ZoHe ¥E MulA X (ctel &
= - d L5
SH-BE-EHI(BH) - HREMY - BLS Ol & 2 i s
308 XXM SO0l & 521,356 435,967 85,389
01 AXEHBAEES 521,356 435,967 85,389
OAlZ AlZE Ol R X & &l E 159,481
OAl=Z ZOHSEaEA 361,875
M EMe saHE N (=1) 41,800 41,800 0
= 38,500
& 3,300
308 XXM SOl 41,800 41,800 0
= 38,500
= 3,300
01 AXESHBILEXS 41,800 41,800 0
OWdZOHR E4tHIE XA 41,800
= 38,500
= 3,300
- ae nsXE(=1) 102,623 101,346 1,277
= 94,521
= 8,102
308 XAXI M SO0l & 102,623 101,346 1,277
= 94,521
== 8,102
01 AXEHBAEEES 102,623 101,346 1,277
oOdgdMe W= 102,623
= 94,521
= 8,102
Zofel 2sX30 N (=21) 50,858,217 44,542,273 6,315,944
= 46,843,095
= 4,015,122
308 XXl Gt S0 A 50,858,217 44,542,273 6,315,944
= 46,843,095
= 4,015,122
01 HXESHBILAEEXS 50,858,217 44,542,273 6,315,944
oFe 2sXd=s0 N& 50,858,217
= 46,843,095
< 4,015,122
ESEX JIAMZ0(=1) 248,976 123,051 125,925
= 229,320
& 19,656
308 X EHSOIA 248,976 123,051 125,925
= 229,320
& 19,656
01 AXEHBAELS 248,976 123,051 125,925
OEsEX Jtat20 248,976
= 229,320
= 19,656
oS FIOtALE 720,300 1,191,012 AN470,712
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A 2204
M ZAU=EN AEE SH(MEIS/HLHEXH)
&2 ZoHe ¥E MulA X (ctel &
. 4
SN FH-S(BH) - MRAY - B Ol &k o8 e s
308 XXM SO0l 720,300 1,191,012 A470,712
01 AXEHBAEES 709,900 1,183,312 AN4T73,412
OB S FILALL 709,900
113 2S0HEE &R E A I 10,400 7,700 2,700
OFMHAHEXR =AY 9 10,400
LATLL AN ALAE 2N (22) 530,000 516,000 14,000
= 265,000
= 265,000
307 @Iz2tol & 530,000 516,000 14,000
= 265,000
& 265,000
10 M2 SRNANEHE2IHEX 530,000 516,000 14,000
OZLJAZTLLHMHAXNJALEH 2S XA 530,000
= 265,000
< 265,000
SLYTHE AL A HIRH AFE(21) 3,102,624 3,005, 106 97,518
= 2,857,680
[ 244,944
308 XAXIEM SO0l 3,102,624 3,005, 106 97,518
= 2,857,680
= 244,944
01 AXEHBAEES 3,102,624 3,005, 106 97,518
OLEMHEBMEIA HISH ALY 3,102,624
= 2,857,680
= 244,944
ANLEXE HIRH™ Ar(=12) 11,932 13,630 A 1,698
= 10,990
= 942
308 XXM SO0l 11,932 13,630 A 1,698
= 10,990
= 942
01 HXESHBILAEXS 11,932 13,630 A 1,698
OANZEXNE UM AL 11,932
= 10,990
= 942
Zofor Ot 2=XE(21) 1,463,402 1,300,450 162,952
= 1,024,381
< 439,021
307 gl2tol & 1,463,402 1,300,450 162,952
= 1,024,381
= 439,021
10 M SRNAEHZI2IHES 1,463,402 1,300,450 162,952
OZOMHOIIE LI AY 1,463,402
= 1,024,381
= 439,021

-511-




FAE=2
g5 Zo
OH

AR MEE SH(AEX/FHAHSH)
Sl HOp XS MHIA AL (ctel @
. = IEl
SN -F3 -4 (3H) - HEMNY - BES Oil &F oH agﬁ Hns2
Z2=A HEXNAF(2D) 123,750 76,250 47,500
=2 99,000
[=4 24,750
307 2120 & 123,750 76,250 47,500
=2 99,000
[ 24,750
M ANS =AY X 123,750 76,250 47,500
O=22ZEA HI2X 123,750
2 99,000
[ 24,750
SLRQ RIACKS(2D) 16,286 16,286 0
2 15,000
[ 1,286
308 XAtXIEtH SO0 ™ 16,286 16,286 0
2 15,000
[ 1,286
01 X SHBABEZ 16,286 16,286 0
OLLENY BN 16,286
=2 15,000
[= 1,286
SERIQ HEFAX(2D)(EEFY) 100,000 100,000 0
2 70,000
[ 30,000
307 2120l & 100,000 100,000 0
2 70,000
[ 30,000
1AM EXAIYE X 100,000 100,000 0
OLLTOO IEHAX A 100,000
2 70,000
< 30,000
¥R0J B2 (=21) 20,000 20,000 0
=2 10,000
< 10,000
307 2120 & 20,000 20,000 0
=2 10,000
[=4 10,000
1 MBI XA EX 20,000 20,000 0
ORI 221 20,000
2 10,000
[ 10,000
HolmMa)| LR N 24 L DE 23 20,000 20,000 0
wE(21)
=2 10,000
[= 10,000
307 2120 & 20,000 20,000 0
=2 10,000
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FAE=2
g5 Zo
OH

ZOHOI=N AEE SS(MI=X/HLHESTR)
Sl ZOje XE AHIA X8 CEREE]
% 5 SIE|
M -ZH-4A(3A) - NREAY - BES Ofl &F o a&% Hws2
= 10,000
INEEINEEE: 20,000 20,000 0
OHQIFEI| HYHHAX V2N L DF
e2ns 20,000
2 10,000
= 10,000
S AADF(2D) 16,000 16,000 0
2 8,000
= 8,000
307 £12H0| & 16,000 16,000 0
2 8,000
= 8,000
INEEI N EEE: 16,000 16,000 0
CEREInE 16,000
2 8,000
= 8,000
FASSHHA 2YAAXA(2 1) 185,800 179,000 6,800
2 92,900
= 92,900
307 ©1210| & 185,800 179,000 6,800
2 92,900
= 92,900
I EEECTIEE: 185,800 179,000 6,800
OFAHEMHIA 2T 185,800
2 92,900
= 92,900
SLFOO FAZSHUIA XV (1) 5,862,857 3,908,571 1,954,286
2 5,400,000
& 462,857
308 XX & SO/ 5,862,857 3,908,571 1,954,286
2 5,400,000
= 462,857
R ERCES] 5,862,857 3,908,571 1,954,286
OLLTOHO FAHSMHIA XIR(BRH) 5,862,857
2 5,400,000
= 462,857
HAU SYTHSY SVSHSAHUA NR(ID) 2,067,200 1,957,543 109,657
2 1,904,000
= 163,200
308 XA EHH SOl 2,067,200 1,957,543 109,657
2 1,904,000
= 163,200
01 HXESHBLRES 2,067,200 1,957,543 109,657
OFAE TLHYSY YUS FSHHA XY
(B2 H) 2,067,200
2 1,904,000
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FAE=2
g5 Zo
OH

o
ool B

Zopel s MlAa X (et
% 5 SIE|
SN P SA(BH) - MBAY - B 01l &k o i HlnE2
| | = 163,200
ZHA=STAE 29 & &5 N2 45,936,845 45,348,960 587,885
= 34,360,553
J| 111,716
= 11,464,576
ZOUA=RNAE 29F 963,996 0 963,996
201 29| 2,700 0 2,700
01 At 22l tl 2,700 0 2,700
OZMA=ERAIE 28 XN 2,700
202 04l 5,400 0 5,400
01 204 bl 5,400 0 5,400
OZMA=XAE 28 XA 5,400
301 LEtEAZ 5,400 0 5,400
09 HALAMBIXIA S 5,400 0 5,400
OFMeI=XAE 28 N& 5,400
307 glz2tol & 255,480 0 255,480
1A SAAEEX 255,480 0 255,480
O ZA=XAE BSAXR EX=+=E 255,480
308 AHXIEHSOIA 695,016 0 695,016
01 HXESHBILAEEXS 695,016 0 695,016
OANZT ZHASXAIE SAX SX=& 695,016
ZOHQI=XIAIE EOt 37,000 0 37,000
201 24| 37,000 0 37,000
01 At 22|l 37,000 0 37,000
OZOMLI=EXAIE &It 37,000
AMZISXII2 SAR HRIHH 176,040 119,419 56,621
307 2120l A 87,450 44,625 42,825
11T A SAAEE X 87,450 44,625 42,825
O% A =SR2 SAR HRME =& 87,450
308 XIS HSOIA 88,590 74,794 13,796
01 HXSHILAEXS 88,590 74,794 13,796
OAlZ ABIZXJI2 SMI HSMHE = 88,590
oo HFALE 22 XA (21) 35,021,830 33,984,919 1,036,911
= 32,256,949
= 2,764,881
308 UXIEHSOIA 35,021,830 33,839,519 1,182,311
= 32,256,949
= 2,764,881
01 AIXSHBHEXS 35,021,830 33,839,519 1,182,311
OFM HF=AE 2EXA 35,021,830
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PN I2E0HA

Hz: M =X AT SH(MIA=EX/FNSAHSIH)
ool HopI=NAL 2 L HE X (ol @&
SN EB .S (SH) - NEAY - BES O &k 2 b HZE2
= 32,256,049
= 2,764,881
SN HFAIE SH XS (XA 650,520 579,877 70,643
201 LBt A H| 8,400 8,400 0
01 At 22l Hl 8,400 8,400 0
OZO2 HFTAIE AHAMEBZAMNEA =2 8,400
307 Q120 & 489,307 458,980 30,327
10 IS SXAIEEE2IH X 481,563 451,236 30,327
O&MQ sl EsAs 89 254,824
OFMC Z=MEIIH (stLRIE) 29 60,303
OFOMC BSMEIIH (01, ofd) 24 88,250
Ol &EEE 29 78,186
11 M SAAEEX 7,744 7,744 0
OZOHC Z=SMESIIE Mo X 7,744
308 XX S-S0l A 152,813 112,497 40,316
01 IXSHHIBAEEXS 152,813 112,497 40,316
O ==sMHEIE M XA 6,653
OZO2 HEAIE2e dEA XA 146,160
HOHQ HZ=AE 524 XR(21D) 545,082 0 545,082
= 502,049
== 43,033
308 AHXISHHMSO0IA 545,082 0] 545,082
= 502,049
== 43,033
01 XIS HIAEES 545,082 0 545,082
OO HF=AIE 54 XS 545,082
= 502,049
== 43,033
ZHOHQ!I HFEAIE TolEM & 2IXK(=21D) 170,760 0 170,760
= 85,380
== 85,380
307 212t0| & 170,760 0 170,760
= 85,380
== 85,380
10 Al SXAIEEE2IGH EX 170,760 0 170,760
OFMR HFEAIE LoHEMEEH 2E XA 170,760
= 85,380
== 85,380
HOHQ HZ=AIE 2I/FHF)| dE N (=21) 31,457 31,457 0
= 27,756
== 3,701
308 AXISHMS0lIH 31,457 31,457 0
= 27,756

- 515 -




PN I2E0HA

HE: FHUST AEE SH(ASSX/FHLASTH)
Sl HOjQ=XAL 29 U HE X2 CEREE]
M -ZH-4A(3A) - NREAY - BES Ofl &F o ﬁlgi Hws2
= 3,707
01 HXSHILEXS 31,457 31,457 0
OFOY HFEAL ZIFF HME X 31,457
= 27,756
= 3,701
ZOHQl HFEAE JIS2LAL(2D) 572,371 1,470,076 897,705
2 286,185
= 286,186
403 TIXISHH S X2 0| 572,371 1,134,796 562,425
2 286,185
= 286,186
01 XXX A2 2= 572,371 1,134,796 A 562,425
OZOIY HFEAE Js2AANY 572,371
2 286,185
= 286,186
BOHO HFEAE JSB(XH) 59,000 55,500 3,500
402 QIR 20| H 30,000 0 30,000
01 ST AL S E (KA THE) 30,000 0 30,000
OB HEANE JS2Y 30,000
403 XIS H S T2 0 ™ 29,000 55,500 26,500
R LR ETES 29,000 55,500 26,500
OO HEAE IS 29,000
T NATHEAL 29 760,943 753,921 7,022
307 BI2+0I & 760,943 753,921 7,022
IR EEEETEE 760,943 753,921 7,022
OsHgEEANAR 2 376,174
O5UBSHAME 29 384,769
ZOHQ MATHEAIL I SSUAY(2D) 2,266,468 1,682,255 584,213
2 1,133,234
= 1,133,234
403 XSS K= 0l & 2,266,468 1,674,255 592,213
2 1,133,234
= 1,133,234
01 AXICSHH A2 2 E 2,266,468 1,674,255 592,213
OB MATHEAL I SBUAY 2,266,468
2 1,133,234
= 1,133,234
ZOHQ HNATHEAL 52 87,500 38,000 49,500
402 QIR 20| & 80,000 0 80,000
O1 QIZEXt 2 A S 2= (XM THE ) 80,000 0 80,000
OESHAF Is2Y 80,000
403 X SH S K20 ™ 7,500 38,000 30,500
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A

220§t

HE: ZOHU=ER MEE SE(MIISX/HLAHASKH)
Chol: TOJOISTAIY 29 L 5 9 d
2 5 4 14
SN SAEA) - MEAY - BES 0l &k o i %
01 XX EHH A2 2= 7,500 38,000 30,500
O=2EsHYFE JIsELT 7,500
ZOHCl MAZTOHAIE XA ( 172,500 170,145 2,355
= 69,000
= 103,500
307 glz2tol & 172,500 170,145 2,355
=2 69,000
= 103,500
10 ALSI SXAIEHE 22X 172,500 170,145 2,355
OXHQ MaE EHOHAIE 2 172,500
2 69,000
< 103,500
ZOHQl MAZEHIAIE 24 78,753 78,550 203
201 24| 2,205 3,150 A 945
01 At 22|l 2,205 3,150 A 945
OXOHMaE EHOH 2,205
307 glz2tol & 76,548 75,400 1,148
10 ALSI S XNAIEHE 22X 58,548 57,400 1,148
OZOHR AT EHOH A 58,548
11 A SAASEEX 18,000 18,000 0
O MaE B 18,000
TN RAMITHEAE 29 3,994,880 3,950,878 44,002
307 21201 A 3,994,880 3,937,378 57,502
10 M2 SXAEEHE 23] 3,994,880 3,937,378 57,502
OBXNENMZ 29 172,246
OZOQ M&0IsXK 341,311
Octltgl=2tEs A 23 176,006
E 0S4y 29 367,512
T ZFoersg=EX 2,748,131
OMM=2ES A 189,674
ZOHQ XIFASITHEAIAE DI 208,100 115,000 93,100
403 X SHH S0l H 208,100 65,000 143,100
01 RXNEHA2E = 208, 100 65,000 143,100
OZMME0IsKHEH 20,000
O+0sSgdH JIsE22 15,000
oFMesE=EAR IsEZ 105,600
OFUESAE JIsEL 67,500
AUMEYY ITYSI20Y 2SINA(2 D) 139,645 139,645 0
J| 111,716
< 27,929
307 glz2tol & 139,645 139,645 0
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A

220§t

HE: BOHQA=K AT S (MIST/FHLAEST)
Sl HOjQ=XAL 29 U HE X2 CEEREE
. 4
SN SAEA) - MEAY - BES 0l &k o e SmEET
Jl 111,716
< 27,929
10 ALSI S XAIEHE 22X 139,645 139,645 0
OAATHaYER ZSMEZ2d 2N 139,645
J| 111,716
= 27,929
Zoe # A E ASFON =M 2,435,137 2,098,647 336,490
= 103,326
= 2,331,811
Zojel SXNEM FA 13,800 0 13,800
201 Lt E | 4,500 0 4,500
01 At 22l 4,500 0 4,500
ool EsXN&EHM =& 4,500
202 04l 6,000 0 6,000
01 =LHA Bl 6,000 0 6,000
OO =XNH =X 6,000
301 L2 d = 3,300 0 3,300
09 HALAHIXIR S 3,300 0 3,300
OFe =XNFH = 3,300
HOAL &FE =8 611,045 550,565 60,480
307 @Iztol & 315,000 304,765 10,235
11T A SAAMSEEX 315,000 304,765 10,235
OFOMIBEYSRI=XNAdH 249 315,000
308 AXIEM SO0l & 296,045 232,000 64,045
01 HXHHILEXS 296,045 232,000 64,045
OANT ZOHAHASAI=XNIAHEH 29 XA 176,045
OAnE YUAAE 24 HA 120,000
ZOoHe BE3 =& 214,000 209,627 4,373
307 212+01 A 214,000 209,627 4,373
11 A SAASEEX 214,000 209,627 4,373
OZOMITHEXNAEEH Z20H 24 214,000
Y ZojeldadssIa 29X (21) 206,652 202,508 4,144
= 103,326
& 103,326
307 QIO A 206,652 202,508 4,144
= 103,326
& 103,326
10 ALSI SXNAIEEE2IHIE2X 206,652 202,508 4,144
OX% FojelzdssIN2 29 206,652
= 103,326
= 103,326
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A
PSR
el

EERY I
ZOHOISK A
Zojol A B 2

=

0z
H
= 10

[
0
ra
0

. 4
SA YO () - NEAY - B Ofl &F 0 agﬁ HRE2
XN ZojolAA=2S IS 2N (KA 162,000 139,959 22,041
307 Q120 & 162,000 139,959 22,041
10 IS EXAIEHE2IHEX 162,000 139,959 22,041
oL AL SSII 2 22H 162,000
ZEOHQIAN DB F &R 39,150 39, 150 0
201 B2 A H| 3,150 3,150 0
01 AP 22l Hl 3,150 3,150 0
OZ QI = X CHA Al A 3,150
307 Q120 & 36,000 36,000 0
AMZIEXAIEE X 36,000 36,000 0
OZOHRIo Y JIEEA} 36,000
SOOI &4 K& 271,750 150, 338 121,412
307 Q120 & 112,000 100,000 12,000
MBS X AIE E X 112,000 100,000 12,000
OFOMR HASE AIE K& 72,000
ODZ2LH9UIH] 202 S ALY 40,000
403 IXNSHHEX=201H 159,750 40,338 119,412
01 MXISHA2E xR 159,750 40,338 119,412
OFMAUAHH JsEBE 159,750
HEAHEZH 500,000 363,600 136,400
307 Q120 & 500,000 363,600 136,400
04 CIZ2FSHAFAISE B & 500,000 363,600 136,400
OBEAMNEH 500,000
ORI S SAF XIR 3,200 3,200 0
307 2I2t01 & 3,200 3,200 0
11 AFSI EXAFS 3,200 3,200 0
OHdJ¥T s0telel==0/03l 3,200
e ESS=E2SAY 45,000 45,000 0
307 c2I2t0ol & 45,000 45,000 0
AMSIEXAIE E X 45,000 45,000 0
OZ&d HOMQ H=ELs HAEY 45,000
ORI AISI B &0 =& 186,040 245,700 A 59,660
307 Q120 & 176,040 245,700 A 69,660
AMSIEXAIE E X 176,040 245,700 A 69,660
oL AN NE2Y SH3 XS 5,040
OZe JIsZdIUa XA 13,500
OFHMAUA=SXNSEAIYE B2 157,500

- 519 -




PN I2E0HA

M ZH=X ANEE SH(MISX/HAHSTE)
ol mOHOl A BA U ABEO O EER-E
SH-BH S (BH) - HRAMY - BLS 01l &k o e HlnE2
308 XHXI € %I S 0l & 10,000 0 10,000
R EREES] 10,000 0 10,000
S ROjQl AISIE Ol X8 10,000
NHWHK =X FH 182,500 149,000 33,500
308 XHXI € %I S 0l & 147,500 142,000 5,500
L ERCES] 147,500 142,000 5,500
ONHMAHT A A 2 87,500
ONHMMES =45l 60,000
403 X SHH S K20/ H 35,000 0 35,000
01 UXISH =2 E 35,000 0 35,000
ONHMAHT AT A 2 35,000
HESAAY (F2FHOID)(IEH/IIE) 31,863 30,294 1,569
= A 31,863 30,294 1,569
SheE J=A 31,863 30,294 1,569
201 g2yl 22,449 21,222 1,227
01 AR 22l 22,449 21,222 1,227
oOSH2Y ARBIH 22,449
202 01t 5,814 5,472 342
01 240t 5,814 5,472 342
SHSY 201l 5,814
203 AR E Tyl 3,600 3,600 0
EV T EES 3,600 3,600 0
©2091 0I5} 300,0002 « 122 3,600
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